APCSA
Examination III

Answer the following fully and completely using nouns, verbs, and ly-words to elaborate your path to solution.

1. Use your e-Portfolio Calculator to determine what Sally has as a grade now and then what the minimum she could do to get a B for the semester.

	
	MidTerm
1st Quarter
	1st 
Quarter
	MidTerm
2nd Quarter
	2nd
Quarter

	Overarching Process
	2
	3
	4
	

	7 Systemic Parts of APCSA
	3
	2
	3
	

	Your Ability to Test
	1
	4
	3
	

	Science Fair
	4
	3
	4
	

	Journal
	4
	3
	3
	

	
	
	
	
	


2. List the 7 Easter Eggs and rank them for prowess.
3. Who are Devorak and Qwerty and why do they exist?
4. Compare and Contrast your code for the e-Portfolio Calculator with the pseudocode you wrote for it.

5. When an instance field is declared with the ____________________ access specifier, this means that the field can only be accessed by methods of the same class and not by any other method.

6. The Java virtual machine contains an agent called a(n) ____________________ that periodically reclaims objects when they are no longer used.

7. The public contructors and methods of a class form the public ____________________ of the class.

8. Documentation ____________________ can be used to describe the classes and public methods of programs.

9. The black boxes from which a program is manufactured are called ____________________.

10. Every method definition contains the following parts: ____. 
(Choose the best answer.)

A)
the return type, the name of the method, and a list of the parameters (if any)

B)
an access specifier, a list of the parameters (if any), and the body of the method

C)
an access specifier, the return type, the name of the method, a list of the parameters (if any), and the body of the method

D)
an access specifier and the the return type

11. An instance field declaration consists of the following parts: ____.

A)
the return type, the name of the method, and a list of the parameters (if any)

B)
an access specifier, the type of the instance field, and the name of the instance field

C)
an access specifier, a list of the parameters (if any), and the body of the method

D)
the type of the instance field, an access specifier, a list of the parameters (if any), and the body of the method

12. Which of the following statements invokes the javadoc utility from a command shell?

A)
javadoc *.java;

B)
javadoc MyClass

C)
javadoc *.java

D)
javadoc MyClass.java;

13. Instance fields are sometimes called ____.

A)
garbage collectors

B)
parameter variables

C)
local variables

D)
instance variables

14. Concepts are discovered through the process of ____, taking away inessential features, until only the essence of the concept remains.

A)
encapsulation

B)
abstraction

C)
enumeration

D)
interctive testing

15. Numerical ____________________ are values that do not change and that have a special significance for a computation.

16. A string of length zero is called the empty string and is written as ____________________.

17. String positions are counted starting with ____________________.

18. The value of x after the following sequence of statements is ____________________.

x--; x++;
19. Math.____________________ returns the larger of x and y.

20. Which of the following statements converts a floating point number to an integer?

A)
int f = 4.35;

int n = (int) Math.round(100 * f);

B)
double f = 4.35;

int n = (int) Math.round(100 * f);

C)
double f = 4.35;

int n = Math.round(100 * f);

D)
double f = 4.35;

int n = (int) Math(100 * f);

21. The decimal equivalent of 110100 is ____.

A)
26

B)
32

C)
52

D)
70

22. The binary equivalent of 1000 (decimal) is ____.

A)
1111101000

B)
11010

C)
101110

D)
1111101001

23. Which of the following can be used to round a floating-point number to the nearest integer?

A)
Math.float

B)
Math.rnd

C)
Math.cast

D)
Math.round

24. Which of the following primitive types has a size of two bytes?

A)
int
B)
byte
C)
long

D)
char
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